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ghs danewal, jal. }j HIHN - 2.5 .7th Math
L
1. It fedtut SS9 faoat envse Afuwr S51 T 7
(i) 09704 (i) 1.357"1.37
(i) 10.10 A7 10.01 (iv) 1735.101 AT 1734.101
(v) 0.8770.88
2. IS ot ennse Afaret e fenf3z gu fay |
(i) 4038 (i) 4.038
(i) 0.4038 (iv) 4.38
3. U fodht emse Afenret f@9 5 o rasa HS fBa |
i) 17.56 (i) 1.253
(i) 1025 (iv) 5.62
4. TANST T Yddr g9a Jufent () S fad)
() S55UF (i) 553uT5UA
(i) 347 UR (iv) 2 U
5. I3 fedtut & fadites (km) fE9 o
() 350m (i)  4035m
(zii)) 2km5m
6. Hgfeamul yus-
(i) 3.02f39 2 T AEST HS ............. Jl
(a) 2 (b) 20
2 2
(c) 10 (d) 100
(i) 0.7,0.07, 7 € AT STET FH & I ?
(a) 7<0.07<0.7 (b) 007<0.7<7
(¢ 07<007<7 d) 0.07<7<0.7
(iiiy 5 fa® 20 IAH T EHBL Y ... T
(a) S5.2kg (b) 5.20kg
(c) 5.02kg d) fegt <9 gt &dt
(iv) 2.38 €T femfgz gu ... T
(a) 2+§ (b) 2+3+E
10 10
(c) 238 d) 2+ 3 + 8
: 100 10 * 100
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== EXERCISE - 2.5 |
o 2

Which is greater decimal number ?

(i) 09o0r04
(iiiy 10.10 or 10.01
(v) 0.8 0or0.88

Fractions and Decimals

(i)
(iv)

1.35 or 1.37
1735.101 or 1734.101

Write the following decimal number in the expanded form :

(i) 40.38
(iii) 0.4038

Write the place value of 5 in the following decimal numbers :

(i) 17.56
(iii) 10.25

Express in rupees using decimals :

(i) 55 paise
(iii) 347 paise
Express in km :
(i) 350m

(fiii) 2 km 5m

Multiple choice questions
(i) Place value of 2 in 3.02 is

(a) 2

2

(c) 10

(ii) The correct ascending order of 0.7, 0.07, 7 is

(a) 7<0.07<0.7
(c) 07<007<7

(iii) Decimal expression of Skg 20 gram is

(@) 52kg
(c) 5.02kg

(if) 4.038

(iv) 4.38

(@) 1.253

(iv) 5.62

(if) 55 rupees 5 paise
(iv) 2 paise

(i)  4035m

(b) 20

(d) 100

(b) 0.07<0.7<7
d 007<7<0.7
(b) 5.20kg

(d) None of these

(iv) Expanded form of 2.38 is

24 38
@ 2+ 75

37
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